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ANTHROPOLOGY
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

1.  Who among the following in the
Indian Varna system is not
considered twice-born ?

(A) Brahman (B) Kshatriya
(C) Vaishya (D) Shudra

2. The term “Vote Bank” was coined by
(A) Andre Beteille
(B) S.C. Dubey
(C) M.N. Srinivas
(D) L.P.Vidyarthi

3. The focus on ‘Imponderability of
daily life’ is the essential feature of

(A) Focus group discussion
(B) Structured interview
(C) Participant observation
(D) Census

4. The percentage of the Scheduled
Tribe Population as per 2001 Census

of India was

(A) 6.2% B) 7.2%

(C) 8.2% (D) 9.2%
5.  “Rites of Passage” refers to

(A) Life crisis rituals

(B) Rituals performed for ancestors
(C) War rituals

(D) Village rituals

6. The “Anthropological survey of
India” is considered as the largest
Anthropological Organization in

(A) India

(B) South Asia

(C) Asia

(D) World
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10.

11.

Electrophoresis means

(A) Separation of charged particles
under the influence of electric
current

(B) Coating one metal over the
other

(C) Blood grouping
(D) Inter-cell communication

Hominization is a process indicating
the evolution upto

(A) Homo habilis
(B) Homo sapiens
(C) Homo erectus
(D) Homo ergaster

Jane Goodall has spent her entire life
studying the behaviour of

(A) Orangutans
(B) Baboon

(C) Gibbons

(D) Chimpanzees

The  human histocompatibility
complex is located on

(A) Chromosome 4
(B) Chromosome 6
(C) Chromosome 17
(D) Chromosome 21

The chromosomal constitution of
Klinefelter’s syndrome is

(A) 47, XXY
(B) 47, XYY
(C) 47, XXX

(D) None of the above
D-07-13



aHa-fa =
ggAaaA — 11
AT : TH U H U (75) T-oahed Ue | U TR % /Y (2) 30 € | |t U Sifard

g

1. YRA™E av e H HEearad § J
T T SR ST TRl S ST § 2
(A) siEmT (B) &t
(C) == (D) ==

2. ‘dic a9 ves fohee ufauiied feear o ?
(A) 3T 9
(B) Twadl T
(C) TAEA. sfifemg
(D) U, foemet

3. I Sfaw @ SHEREEAr W HET
Topeent St fereroe & 2
(A) wHE q9 T4
(B) Wiad QeI
(C) wfqumT STaeiieh
(D) SO

4. ¥RA ® AT 2001 FH AR
ST ST Sl SEEAT Sl Uierd

o
(A) 6.2% (B) 7.2%
C) 82% (D) 9.2%

5. T I TS BT T R €2

(A) Sied Tt Tohe & ol 3T em
(B) YISH & fo1d fohd T 3T
(C) I aeH

(D) WT 3F=H

6. “UUMTCAISTReT Td 3 Srear” Ty T
T e a8 AFaeRHE e 9
ST & ?

(A) 9RE
(B)  gfeqor wivrEn
(C) ulrn
(D) fowa
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7.

10.

11.

I FHUI-HIeH & A &

(A) TR 91T % 999 | 91T [T g
FHUTT T TR

(B) U o1 % W IO o] o WA
g

(C) Y& 9Hg ST

(D) 37d: BN HAR

THARSYHE U UH ke §, e
e W a% s g & uan
T ST €

(A) g gfafera

(B) i dfra=g

(C) & e

(D) @M TR

S TSl A ST WU Sftee
frfeifad & 9 hash SR &1 3reaa
FH T S B 54T ?

(A) IR

(B) =

(C) Tt

(D) Tt

TS Sl Sideh GASTar AT AT
e T

(A) T 4

(B) T 6

(C) T 17

(D) oA 21

T thoet o WeTeIoT ST RIS WEeA
T

(A) 47, XXY

(B) 47, XYY

(C) 47, XXX

(D) Sww H A HiE TE
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12.

13.

14.

15.

16.

“Heath and Carter” method is used
for studying

(A) Human Physiology

(B) Human Physique

(C) Human Growth

(D) Human Nutrition Status

Racemization is a very specific
method of dating fossils. This
involves the estimation of

(A) Flourine trapped in a fossil

(B) Levo-rotatory protein

(C) Mineralization

(D) Radioactive isotopes

Harappan civilization extends from
Ropar to Sutagendor. The Harappan
site located in Haryana is

(A) Kalibangan

(B) Mitathal
(C) Kotdiji
(D) Lothal

Man in India during Neolithic period
sometimes lived in pit dwelling.
Which one of the following Neolithic
sites of India has the evidence of pit
dwelling ?

(A) Brahmagiri

(B) Palavoy

(C) Burzohom

(D) Daojali Hading

Which of the following are protective
provisions for Scheduled Tribes as
per the Indian Constitution ?

I. Article 15(4), 16(4) and 23

ii.  Article 46 and 164

ii.  Article 332
iv. Article 338
Codes :

(A) i, iiand iii
(B) i, iiiand iv
(C) iii,ivandi
(D) i, ii, iii and iv
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17.

18.

19.

20.

Identify the States which have
implemented 50% reservation for
women in Panchayati Raj institutions
(PRIS) :

I. Madhya Pradesh

ii.  Bihar

iii.  Himachal Pradesh

iv. Goa

(A) i, iiand iii only

(B) Alli,ii, iii and iv

(C) i, iiiandivonly

(D) i, iiiand iv only

Theories relating to social structure
have been given by

I. Radcliffe Brown

ii.  Raymond Firth

iii.  Edmund Leach

iv.  Brownislaw Malinowski

(A) i, ii &ivonly

(B) i, ii &iiionly

(C) Alli,ii, iii &iv

(D) i, iiiandiv only

The principal authorities for planning
and implementation of Mahatma
Gandhi National Rural Employment
Guarantee Act (MNREGA) are

I. Panchayats at District level

ii. Panchayats at Intermediate

level
iii.  Panchayats at village level
iv.  Panchayats at Hamlet level

(A) i, ii,iiiand iv
(B) i, ii, and iii
(C) i,iiandiv
(D) i, iiiand iv

Among the Indian anthropologists,
who spearheaded village studies are,
I. Andre Beteille
ii.  lIrawati Karve
iii.  M.N. Srinivas
iv. S.C.Dube
(A) Alli,ii, il &iv
(B) i, iii & ivonly
(C) i, ii &iiionly
(D) i, iii &ivonly
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12.

13.

14.

15.

16.

‘€ 3R HeY fafy 1 v fefatea
T ¥ fopaeh 3Temam & Tow fepam ST € 2
(A) T IRRIkTRI

(B) THE IR T

(C) e Tghg

(D) TG % ST Y Uit

TSS9 SHemedl & HIeARoT i
g fafere ugid € | 9 Hefated &
I F T €

(A) STt | Sl FAE

(B) a3 WA

(C) @Sttt

(D) AT AishT THRAS (JTEHIS)

TS TIAT AT H GATISR Tk thell
T | sTn H fE seu e ¢

(A) AT

(B) Tameret

(C) whiefest

(D) et

FIUMEMOT T H ORA H A Fedl-d
TEE H B ST Wl A | FefrEd
ORT & T e § 9 fRed fue
AT o1 T1e fHeta € 2

(A) SR

(B) UaTE™

(C) ™

(D) SIS BT

frefafad 5 & F 91 IRdE diaee &
AR YA SHenaAr & fod
TREIVTIH T € 2

i ST 15(4), 16(4) 3T 23

ii. 3T 46 3R 164

iii. TR 332

iv. 3T 338

HE

(A) i, ii 3 iii

(B) ii, iii 3 iv

(C) i, iv 31X i

(D) i, ii, iii 3 iv
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17.

18.

19.

20.

Tl T WS (PRIs) H Afgemew &
fo@ 50% SREIUT H ot TSal i
T i

i. TRy i. fw=r

iii. fOEEwRwr iv. e

(A) e i, ii 3 iii

(B) 1, ii, iii 3 iv Tt

(C) haet i, iii 3 iv

(D) ii, iii 3T iv

TR ST 9 T g e
wfadried 6 & 2

i (o SIS

i. T WY

iii. UsHvS o

iv. ST Afereh

(A) HaA i, ii 3R iv

(B) e i, ii 3 iii

(C) i, ii, iii W& jv Tt

(D) e i, iii T iv

TETCAT Tl <|l>£|¢| HIOT ASTIR TR
syf=m & s e fREraEE &g
aﬁqﬁwmﬁrﬁrﬁ%?

i |\7|("1| H‘I(lq L{"3||¢|('|

i, T ER w A

iii. U R g

iv. ool (AT EHEIE) WX I U
(A) i, i, iii 3 iv

(B) i, ii 3 iii

(C) i, ii 3 iv

(D) i, iii 3T iv

IR AHafeRa B 9 fRe w
STEHTAT ! T3S il ?
i 3T S
ii. S e
iii. THTA. shfar
iv. TEHEL T
(A) i, ii, iii 3 iv @ |
(B) ii, iii @ iv
(C) @adt i, ii 3 iii
(D) e i, iii 3 iv
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21.

22.

23.

Which of the following are the key
concepts of Ethnography ?

I. Field work

ii.  The Field

lii.  Participant observation

iv. Case study

Codes :

(A) i, iiand iii are correct.
(B) iiandiv are correct.

(C) i, ii, iii and iv are correct.

(D) iand iii are correct.

Read the statements and choose the

correct answer from the options

given :

The specific features of chorionic

villus sampling are

I. The sample contains foetal
cells only

ii. Itisan invasive procedure

iii. It is performed when the foetus
is 20 weeks old

Iv. It can detect most of the
genetic diseases.

The statements not applicable to

chorionic villus sampling are

Codes :

(A) i, ii, iii

(B) iii,iv

(C) i, iv

(D) 1i,iv

Read the statements and choose the

answer from the options given :

I. Autosomal dominant
inheritance will be shown in
50% of the offspring.

ii. The males will express in
higher frequency than females.

iii. The trait will be revealed in
every generation.

iv. The trait is expressed in both

the sexes.
Codes :
(A) i, i, iii
(B) i, iii, iv
(C) i, i, iv
(D) iii, v, ii
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24,

25.

26.

27.

The features of Hardy-Weinberg

equilibrium are :

I. It occurs in large population.

ii.  The gene frequency fluctuates
randomly.

iii.  Mating is selective

iv. Itis not influenced by mutation
and selection.

The statements not applicable to

Hardy-Weinberg equilibrium are

Codes :

(A) i, iii, iv (B)

(C) i, ii, iii (D)

1, i, iv
i, i, i

Which of the following pairs is
correctly matched ?

(A) Prosimian — Gorilla

(B) Dryopithecus — Indonesia

(C) Peking Man - Africa

(D) Homo habilis — Olduvai Gorge

Which of the following statements

about fossils is true ?

(A) All body parts of an organism
are equally likely to become
fossilized.

(B) There are fossils of all species
of organisms that have ever
lived.

(C) Fossils in upper layers of rock
are likely to be older than
fossils in lower layers.

(D) Fossils are most likely to be
found in sedimentary rocks.

Which of the following act(s) like a
molecular copy machine(s) rapidly,
making large numbers of specific
sequences of DNA ? Use the code to
answer.
a.  DNA fingerprinting
b. DNA Ligase
c. Bacteria
d.  Polymerase chain reaction
Codes :
(A) Bothcandd
(B) ab,c&d
(C) onlyd
(D) onlya
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21.

22,

23.

e U Bl G SFTURUME A G

g2

i

i. &

i, T STeeIR

iv. Y S (AT 3TeE)

ETE

(A) i, ii 3T iii T |

(B) ii 3R iv T |

(C) i, ii, iii 3 iv T T |

(D) i 3T iii W& |

f@ ™ FE @ oufed R A 2

foshedt & TEr 3T A T A

SR S Hufer 7w e &

i Udeel A %Ed o g
HITERIT Bt & |

ii. T SYERHUHRI Uishar &l € |

iii. TE a9 fear ST & S yor 20
GeATE T BT € |

iv. Ig oy SAfaes I H wEEE
FATE |

a FwF S SR SER U W

T TR ©

E

(A) i, i, iii

(B) iii, iv

(C) i, ii, iv

(D) i, iv

frfofad et # ufgd @iv A" K3

fosreal @ TEl ST T 99T i

i. \‘HIdIHI‘-IC'I oA 0|-‘<"|I‘|I<'I 50% ®|‘°‘CII
¥ fe@rE TS |

i. ﬁﬁ@wﬁwmﬁgwwm
[SIECE]ES \‘HI“'IO?‘IOM h{7]

iii. & fouar saw 9l ¥ wee
g |

iv. € foumwer A form § osgeR
il

ETE

(A) i, i, iii

(B) i, iii, iv

(C) i, i, iv

(D) iii, iv, i
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24. TE-aTEaT Ao i a9 & :

25.

26.

27,

i T8 SR SHEET BT ¢ |

i. <9 omg A ache® w9 9
SA-TETE BT ¢ |

iii. BT TR EATE |

iv. ¥E IAREAT Ud TF §RT g
T |

TEL-AFaT Ao W T 7Esg e et

3T Ho T

ETE

(A) i, iii, iv

®) i, iii, iv

©) i, i, iii

(D) i, i, ii

e & ¥ 9 91 g T8 Aord &2

(A) wfefeT - Reen

(B) gEufaeRd - gEMfeET

(C) Tufemas  — 3mRe

(D) emidfeferm - efegam dmEme

Steredt % s § ffefad weE § @

I AT T & ?

(A) TF F TEE 9NN B GHE TT H
SHSTTHIRIOT & kel & |

(B) Siat & 3 Wil whfyry it st off
ST & S STeTeH € |

(C) =M & IUU Wdl § Siawy
freett Wt o Stareat #t Jorr o
STET IR &1 Tl & |

(D) SiamAr & deiel dgEl § uEn
;HI SRT  SART G g
|

fefafag 5 ¥ &= 9@ fwar aorfas
HUT I I Gifd ST & R
STTHAT T T WA Ol | 1 WY 2
A 58 i ol 9T

ST, A B

SITAT

CETre

iteTALsT o UM

(A) ¢ 3R d =
(B) a, b,c3d
(C) waadd
(D) et a

%gocm
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28.

29.

30.

31.

Mesolithic culture in India is found
in the site namely

(A) Chauntra

(B) Sangana Kallu
(C) Tilwara

(D) Navdatolli

Earliest evidence of domestication of
dog was found at :

(A) Jericho
(B) Maglamosian
(C) Piklihal
(D) Tardenoisian

Which among the following is an
upper Palaeolithic site of India ?

(A) Vadamadurai
(B) Birbhanpur
(C) Adamgarh
(D) Renigunta

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : A hypothesis leads
either to support or refute or
modify an existing theory.

Reason (R) : A hypothesis is a
proposition which can be
empirically tested to determine
its validity.

In the context of above two

statements, which one of the

following is correct ?

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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32.

33.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Blood-wealth is a
payment made by an offender
to a victim, and the latter may
be forced to accept the fee even
if he is unwilling.

Reason (R) :This is a social
sanction to settle disputes and
avoid feuding between
individuals and groups.

In the context of above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : During the World
War 1l the U.S. Government
financed a number of studies to
know the national character of
the enemy countries.

Reason (R) : There exists
consistent difference between
the cultures that can be
analysed as psychological types.

In the context of above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true, and
(R) is not the correct
explanation of (A).

(B) (A)is true, but (R) is false.

(C) (A)is false, but (R) is true.

(D) Both (A) and (R) are true and
(R) is the correct explanation of
(A).
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28.

29.

30.

31.

qRT | AU HEHd 8 A § U8
STl & 2

(A) ==

(B) T e

(C) fdcrarer

(D) AR

P B U BT SARMETH THT FaT
foeTa & 2

(A) SR

(B) HeHifEa

(C) Tuspeiest

(D) cTSHsTHEEA

frefefad § 9 &9 @ ©T 9Rd &
X GRTITEOT T € 2

(A) TRHE

(B) SRHFR

(C) 3HTE

(D) e

T 31 e 53 T E, U B AT

(A) 3T T B HRT (R) HT AW fgam

TI'CIT%':

At (A) © TF UREeTHT foRmM
fagma & a1 @ TEgs O @ued
7 G It & |

FHROT (R) : URHeIT U TS &t &
fsTaent St audT Fiid & &
o1 eTwiferss &9 & TdieTor foham
ST el € |

ST 3 HET & G § Fefefad §

YHTHTEE ?

E

(A) (A) 3R (R) sFl 9 € &R (R),
(A) T el AT F |

(B) (A) 3R (R) THI & & W
(R), (A) Tt TEl = &t ¢ |

(C) (A)TTE, W (R) AT |

(D) (A)FEEE, W (R) T T |
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32.

33.

T 3t FH T T E, U AT

(A) 3T T A HRT (R) H A9 4T

TN

AMMHT (A) : ITF-TERT ST FRT
difed i 7@ ST arell seee &
st fop dife afs sfegs & o ot
I B WHR FA & o areg
fopam ST T € |

HRT (R) : I AR q=T THE o &
T A T & o qon faat =
fHeem g Wt ds et € 1

SUYF I FUA & Gy H Efcfad 7

T B AT T 2

T4

(A) (A) 3R (R) S TAE |

(B) (A) R (R) IHi ¥ & W
(R), (A) Tl T&l = F&l & |

(C) (A)T=E, W (R) 3HAE |

(D) (A) 2@ &, <] (R) FAE |

T g e 3 T €, U W iy
(A) 3T T BN HRT (R) HT AW 5w
TI'CIT%':

i (A) : favg g1 & SRE,
J U, THR F I U7 & I A
TS W ST % T @
STATAT 1 faaeoT TR o |

FHRUT (R) : TEHadr & ara Gagor
= A Wt §, S
ORI ® | favemor fa
ST Gl € |

ST 3 FAT % G § Ffefad §

Y I AT T ?

E T

(A) (A) 3R (R) sH1 9 € &R (R),
(A) =l T& =T T E |

(B) (A)T@E, W (R) WA T |

(C) (A) 3T g, W (R)FAT |

(D) (A) #R (R) sHi ¥ € 3iR (R),
(A) =l &l AT |
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34.

35.

Given below are two statements, one
is labelled as Assertion (A) and
another labelled as Reason (R) :

Assertion (A) : In  India, women
empowerment is increasing
among the tribal communities.

Reason (R) : Literacy and
Education IS improving
amongst the tribal communities
in India.

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Cultural ecology
study role of environment in
the unilinear evolution of
culture.

Reason (R) : Evolution of culture
Is based on the enlargement of
geographical territory.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are correct.
(B) (A) iswrong, but (R) is correct.
(C) Both (A) and (R) are wrong.
(D) (A) is correct, but (R) is wrong.

Paper-111
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36.

37.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Assertion (A) : Persons suffering
from alkaptonuria excrete urine
that turns black on exposure to
air.

Reason (R) :This is due to
presence of a substance
Alkapton (homogentisic acid)

in their urine.
In the context of above two
statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.
(D) (A) is false, but (R) is true.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Inner epicanthic fold
is present in the Mongoloid
populations.

Reason (R) : Not all anatomical
traits can be as easily
understood as adaptations to
the environment.

Codes :

(A) (A) is correct and (R) is wrong.

(B) (A)iswrong and (R) is correct.

(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct.
D-07-13



34. M T FF KT T E, UH H AR

(A) 3T T B FHRIT (R) HT A9 fzam

TN

e (A) : IRA | ST THET
I AT IR 98 W& |

FHRUT (R) : 9Rd & SeMd Tl |
TERAT qA RrRm H gER @ @
T

&<

(A) (A) ¥R (R) Fl 4 € 3R (R),
(A) T el T F |

(B) (A) 3R (R) IHI ¥ & 3R (R),
(A) Ft TEl e TE T |

(C) (A)TH T, W (R) 3T T |

(D) (A) 3F &, W< (R) THT ¥ |

35. M 31 FF G T ¥, U i ST
(A) 3T T H HRT (R) HT A9 g
TI'CIT%':

e (A) : TiRpias wRkfefant §
A & THREE SEEE o
URITEROT St THRT ST T ol
ST & |

HRUT (R) : TEhia FM Mg HTTersh
& % o W e € |

SUgeR q FHAT & G H f=feiad o

Y B T E ?

E 4

(A) (A) 3R (R) S T € |

(B) (A) Terd & W= (R) W&l & |

(C) (A) 3R (R) IHI T & |

(D) (A)T& &, = (R) Tord & |

D-07-13
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36.

37.

I 37 e 7T T €, Uh T AT

(A) 3T T B HRT (R) HT A9 g

TR

afimem (A) : UoheTHel | I
e T ST Hd & S g
% TP | HIAl & S ¢ |

FHRUT (R) : TE 37 GF H Uohe qa1d
(@IS 37T) I HSET %
T BIAT |

SUdeR J1 HAT & TIY H =feiad o

DI T2

R.

(A) (A) 3T (R) 31 ¥ € 3R (R),
(A) =l &l AT |

(B) (A) 3R (R) Tl ¥ & W=
(R), (A) i &t == &l ¢ |

(C) (A) T, W (R) @I ¥ |
(D) (A) 3T &, < (R)THT & |

e g e 3 T €, U Ay
(A) 3T TEL & HROT (R) H1 A9 fg@r
TI'EIT%:

AHT (A) : INE TIhids d8
e sHgen § fomme g
gl

FHRUT (R) : o Rk faeioarnst ot
TR ST W TET T ST Hehell

T S o SR % W SEe
|

(A) (A) T E R (R) T & |
(B) (A) 7o § 3R (R) W&l € |
(C) (A) 3R (R) T Tord € |

(D) (A) 3R (R) I &1 T |
Paper-111



38.

39.

40.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : Grooming is a
characteristic feature of the
non-human primates.

Reason (R) : Non-human primates
groom one another for social
bonding as well as parasite
removal.

In the context of above two statements,

which one of the following is correct ?

Codes :

(A) (A) is correct and (R) is wrong.

(B) (A)iswrong and (R) is correct.

(C) Both (A) and (R) are wrong.

(D) Both (A) and (R) are correct.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Obesity is
common among the tribals.

Reason (R) : Sedentary life style
results in obesity.

In the context of above two statements,

which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).
Assertion (A) : Fauresmith tradition
of East Africa represents
middle Palaeolithic features.
Reason (R) : Traits of Fauresmith
culture do not bear legacy of
Stellenbosch culture.
In the context of above two statements,
which one of the following is correct ?
Codes :
(A) Both (A) and (R) are correct.
(B) (A) is correct, but (R) is wrong.
(C) (R) is correct, but (A) is wrong.
(D) Both (A) and (R) are wrong.

very
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41.

42.

43.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Mousterian tradition
represents a transition between
lower and upper Palaeolithic in
Western Europe.

Reason (R) : It shows different
facies with elements of both
lower and upper Palaeolithic.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are correct.
(B) (R) is correct, but (A) is wrong.
(C) Both (A) and (R) are wrong.
(D) (R) iswrong, but (A) is correct.

Arrange the following social and

religious movements in India

according to S.C. Dube in ascending

order :

(A) Muslim Reform Movements —
Arya Samaj — Prarthana Samaj
— Brahma Samaj

(B) Brahma Samaj - Prarthana
Samaj — Arya Samaj — Muslim
Reform Movements

(C) Arya Samaj — Brahma Samaj —
Muslim Reform Movements —
Prarthana Samaj

(D) Prarthana Samaj — Muslim
Reform Movements — Brahma
Samaj — Arya Samaj

Identify the correct sequence of the

following steps in data processing

and data analysis :

(A) Coding — data entry — data
cleaning — data analysis

(B) Data cleaning — coding — data
analysis — data entry

(C) Data entry — coding — data
cleaning — data analysis

(D) Data analysis — data cleaning —
data entry — coding

D-07-13



38.

39.

40.

T 31 o T3 T €, U S AT (A)

3 /Y T HROT (R) 1 9 feam man &

ATHAT (A) : HARAT (YT 7T TR
TEHCH o 7 a9 & |

HRUT (R) : AMT X TEHSH ATHISTh
T AT W 8 WSt W
g2 & ol s g T AR € |

ST o HE % e § Frefonad &

T A AR E 2

T

(A) (A) Tl g 3 (R) Toid & |
(B) (A) Terd & 31X (R) W& & |
(C) (A) R (R)qHI Tord & |
(D) (A) 3R (R) S W& € |

T 31 o T3 T €, U AT (A)

3 /Y T HROT (R) 1 9 feam man g

B (A) : HIST ST & s g
B AT A |

FHROT (R) : STHHURNGT STa-9iel
RO HET &I § |

ST 3 FA % G § Ffefad §

T B AT T 2

E

(A) (A) 3R (R) 31 ¥ € iR (R),
(A) =l &l AT |

(B) (A) ¥R (R) Ml ¥ € 3N (R),
(A) Ft Tel T T T |

(C) (A) T, W (R) 3TAE |

(D) (A) 3\ g, W (R) THE |

T 31 o T3 T €, U AT (A)

31X /Y T HROT (R) T 9 e T &

APTHAT (A) : TST TR D BRI
WERT W EOTIOT g
fargtant fefud et & |

FHRUT (R) : BREGY WERT & AT |
AT GEPId T ST TRERT el
femdr & |

ST § HAT % GeH H Ffefad §

T B AT T 2

E 4

(A) (A) 3R (R) S W& € |

(B) (A) W&l &, wq (R) ToId & |

(C) (R) W&l g, == (A) Tord & |

(D) (A) 3R (R) 1 Tord € |

D-07-13
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41.

42.

43.

I g e 53 T €, uH @ At

(A) 3T T H HRT (R) HT A9 g

TN

afirpe (A) : TR WA e
T | e AT IAX GRETEIOT I
?jaﬁﬂ qRITA (FSFHOT) TS el

|

HROT (R) : T€ U9 Te 3T RTSI0T ST
TS & a9 e
TRTRETE eIl & |

ST 3 FAT & G W FAfefad §

T B AT T 2

E

(A) (A) 3R (R) S T € |

(B) (R) W& &, = (A) Tord € |

(C) (A) 3R (R) 1 Toid & |

(D) (R) 7o & T (A) T T |

T, 39 & IR 9RA H QI Ta

Uit TRiel &I SRIEN %H |

At i

(A) ARETH GaR T=IeH — 3 FHIS
— T HHTST — SRl T

(B) & HAN — WA 9EN — 3T
AT — Rt GoR 3=

(C) oM |HN — F&T TSl — HRe™
FUR A — W1 AT

(D) WA WEN - FReM  guR
SR — & THIST — 3T ST

2 wRfET wd g favelmor #

Frfefed daml & W& 3w

TEEH il

(A) =IfET — 22T T — T FATT —
ECRER Y

(B) T FAM — wfem - &
fargetoor — a1 Ut

(C) &1 Ul — ST — 221 FAT —
<2 faretyor

(D) e faweror — o1 Sl — 2
TSt — wifeT
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44,

45.

46.

47.

48.

Identify the correct sequence in the

descending order of social divisions

in Tribal society.

(A) Families — Clans — Sub-tribes —
Tribe

(B) Tribe — Sub-tribes — Clans —
Families

(C) Clans — Families — Tribe -
Sub-tribes

(D) Sub-tribes — Tribe — Families —
Clans

Identify the correct sequence of the
following in the course of
ethnomedical treatment :

(A) Ethnomedical specialist -
therapy — etiology — disease
classification

(B) Therapy — disease classification

— ethnomedical specialist —
etiology
(C) Etiology - disease

classification — ethnomedical
specialist — therapy

(D) Etiology — therapy — disease
classification — ethnomedical
specialist

Arrange the Rinas in Hindu thought
enumerated in the Satpath Brahmana
in ascending order :

(A) Rinasto God — Rinas to Seers —
Rinas to ancestors — Rinas to
Fellow beings

(B) Rinas to Fellow beings — Rinas
to ancestors — Rinas to Seers —
Rinas to God

(C) Rinas to ancestors — Rinas to
God - Rinas to Fellow beings —
Rinas to Seers

(D) Rinas to Seers — Rinas to
Fellow beings — Rinas to God —
Rinas to ancestors

Identify the correct sequence of the

following given by George James Frazer :
(A) Magic — Religion — Science

(B) Religion — Science — Magic

(C) Science — Religion — Magic

(D) Religion — Magic — Science
Identify the correct sequence of
phases of cell cycle.

(A) G -Gy,-S-M

(B) G,-S-G,-M
(C) Gy-S-G,-G,-M
(D) G,-S-G,-G,-M

Paper-111
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49.

50.

51,

Identify the correct sequence of the
following  geneticists  in  the
chronological order in which they
made their contribution :

(A) Sutton & Boveri - T.H.
Morgan — Mendel — Johannsen

(B) Johannsen — Sutton & Boveri —
T.H. Morgan — Mendel

(C) Mendel — Johannsen — Sutton
& Boveri — T.H. Morgan

(D) T.H. Morgan — Johannsen —
Mendel — Sutton & Boveri

Identify the correct sequence in the
order of their discoveries/
establishment :

(A) Structure of DNA - Hardy-
Weinberg Law - Human
Chromosome number — Human
Genome Project

(B) Hardy-Weinberg Law — Human
Genome Project — Human
Chromosome number -
Structure of DNA

(C) Hardy-Weinberg Law — Human
Chromosome number -
Structure of DNA - Human
Genome Project

(D) Human Chromosome number —
Hardy-Weinberg Law -
Structure of DNA - Human
Genome Project

Identify the correct sequence of the

following authorities in the order

they gave their racial classifications :

(A) Johann Blumenbach — Deniker
— Boyd - Garn

(B) Garn - Deniker — Boyd -
Johann Blumenbach

(C) Deniker — Garn - Boyd -
Johann Blumenbach

(D) Boyd - Johann — Blumenbach
— Deniker — Garn

D-07-13



44,

45.

46.

47.

48.

ST 9§ QIS oS o
3TeRTET 59 H TEl 3FhH i T

(A) TRAR — FoT — IT-SHSTI — ST
(B) ST — Y-S — &9 — URAR
(C) Tl — URAR — S — Y-S
(D) SU-SFSTI — ST — IRAR — e

JeTifer TFaferear ST=R & SRM Fe=fetad

T TEl SThT T

(A) Teid Fafshedr faRTe-ST=ER — &q
farm — T aetteRToT

(B) Tafheam — T anfieheoT — Joiiia
Tafrean fafere — Eqfam

(C) o= — AT afRIOT — oIt
Tafehea fafeme — fafsmen

(D) =qfesTE — fafshedr — T aifeRToT
— g Fafepear fafeme

feg fommamr & =01, S/ fF wau™
e H A T €, i OSIRIEl %W H
AT Y
(A) T S FOT — WS R FOT —
TS 0T — THATRT T 0T
(B) HHMIAT <l 0T — YTl T 0T —
T3 Rl 0T — TRHTCHT i 0T
(C) Y&ST I U7 — URHTCHT Tl ROT —
TEHIET i 0T — WY F0T
(D) WY I 0T — FHAMIAT Sl F0T
— TRATHT Sl 0T — &Sl Sl 0T

ST SR e g1 fed T ffeiad &
TE ST D T B

(A) Vg - & — foae

(B) wH - fomm - =g

(C) TofM — & — =g,

(D) &9 - =g - fa=e

HITHT T5F & =RON B el ShT |
ﬁﬁﬂﬁaﬂﬁw

(A)
(B)
(©)
(D)

1~ -9 -TH
Gﬁzqq
— S, — ST, —
)

0

s b 2
ﬁﬁﬁ 41,

|_\
l\)

4

|_\

— ST, —

r\>
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49.

50.

51.

frefafed SHfefaes #t 39 Fessa |

T A ° fafea wifee, Ed =

STYAT ANTE ST T

(A) A 3R Fer]
=gl — STig=4H

(B) Se=dH — WA 3R dEdt —
AT, A - T

(C) wed - Se~uad — ¥eed 3R
et — 2T, g

(D) rWE HH — See — Agel —

T2 AR ARt

— A, A —

frfafaa enfashRl / TIo=Tstt s Tet

(A) TIUAT, & TEA — ETel-argant
Tom — 9Fa TURET @ SE -
A T RIS

(B) wE-arAent fem — mFe M
RIS — AT TORGAT S T
—ZTAT, I G

(C) erEt-arent | — AMe TUrgA
H WA — STAT, H AT -
A M aREsE

(D) UFE O wl HE - el
AT HEH — SLTAT, AT
o REANEE AR ST

fr=fefaa miveriat =t 3@ @@t 9 |

TTeY, TS S8 30T ST ST iiehaon

feane:

(A) SH SHAT® — SHIR — dES —
m™

(B) TH - THE - dE@e -
A

(C) M= - TH - dEFs - SF
A

(D) dEE — SFIF THATH — SHF —

IE]

S
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52.

53.

54,

55.

Paper-111

Identify the correct sequence of
‘actions’ the genetic counselling
involves :
(A) Diagnosis — Risk assessment —
Communication and Discussion
— Long term contact and support
(B) Risk assessment — Diagnosis
Long term contact and support —
Communication and Discussion
(C) Diagnosis — Communication and
Discussion — Long term contact
and support — Risk assessment
(D) Communication and Discussion
— Diagnosis — Risk assessment —
Long term contact and support

Identify the correct sequence of the

following bones in the order they are

placed from head to toe position :

(A) Femur - Fibula — Tarsals —
Phalanges

(B) Fibula — Femur — Phalanges —
Tarsals

(C) Tarsals — Femur — Fibula —
Phalanges

(D) Phalanges — Femur — Tarsals —
Fibula

Arrange the following methods of
dating in order in which they were
discovered :

i
ii.
iii.
iv.

Varve Analysis
Radio Carbon
Stratigraphy
Racemization

Codes :

(A)
(B)
(C)
(D)

Arrange the following material traits

of early man in order of their

i i i v
i [ iv i
ii i [ 0\
\Y i i ii

emergence :
i Pestle and Mortar

ii.  Harpoon

iii. Point

iv. Bow and arrow

(A) i i iii iv
(B) iv iii i i
C) i i iii iv
(D) iii i iv i

16

56.

S7.

58.

Arrange the following stone tool
making techniques in order of their
chronology :

I. Bi-face technique

ii.  Pressure flaking

ii.  Block on block technique
iv.  Grinding technique

Codes :

(A) iv ii i iii

(B) iii i ii iv

C) i i iii iv

(D) ii iv i iii

Match items in List — | with items in

List — Il. Use the codes given below :
List-1 List— 11

a. Rangbang I. Bhuiya

b. Dhumkuria ii. Muria Gonds

c. Ghotul iii. Oraon

d. Dhangarbassa iv.Bhotia
Codes :

a b c d
(A) i v i iii
(B) iv il i i
(C) i i iv ii
(D) i Wi i v

Match an item in List — | with an

item in List — I1. Use the codes given
below :
List—1 List— 11
a. S.C. Dube i. Kishan Garh
b. M.N. Srinivas ii. Ramkheri
c. A.C. Mayer iii.Rampura
d. McKim iv. Shamirpet
Marriott
Codes :
a b C d
A i i i v
(B) iv il i i
(C) i v [ ii
(D) i i iv i
D-07-13



52. W& WHY §Erud fRae’ @ @@l

SR T
(A) W1 TRW - SifEw oo —

Td T4 — SIHhI T
Td Sfaets
(B) Sif@w omhed — I RE
SRl G Te  3Tact
T TS ==
(C) ﬁﬂ f‘ﬂﬁ ‘HIQEWT g T —
SiHehlicteh T Ta  3feore

fEw Ao

(0) o w wef  A FE
SIRGH 3Tkt — SIhiioTsh THeh
Td Sfaets
53. fTmAfafea efem @ 6 e 4
URA e AT B & TR Tl
Y A
(A) AR — St — TeRer —
' . .
(B) afesifosht — SafT — ST —
oI
(C) ToHT — FaT — FAlesirael —
ST
(D) e — AR — TohIeT —
54. HAMYROT I FEAANET Ggiaal ol
3T @Sl ST o 9 H SFared &
i, g fovemer i, Ied #Ee
iii. 2T iv. IS
&<
A i i i v
B) Qi i v i
©) Qi i i v
©) iv i i i
55. 3R HHT & Hifde A0 i 39
3] & FHH H FaARAd i
i. A Ud W
i, g
i, =reprem
iv. &9 SR ST
(A) i i i v
(B) iv i I i
© i Qi Qi v
D) i Qi v i
D-07-13
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56. fTEfREd YRAT 3R 10T deheiehl bl

S7.

58.

3Tk ISR STER A HY :

i, IS deAE

ii. T eeh

iii. AT W AT dohih
iv. O Sl g
E

A v i
®) i i i v
© i i i v

©) i v i i

Tl H S R B AL § S AR o

e gt i X A i et @
TEI 3T 1 I IS
-1 -1

a. T R ER|
b. gwEHRET ii. giar e
c. ' iii. 3Ty
d. ETRETET iv. Tifean
WS

a b c d
(A Qi v i
(B) iv Qi i
©) i i v i
O) i i Qi v
Al § St AS B gE-l B S Rl %
qrer AT ﬁ%—ﬁi 3R A 3 Hiet |
gﬁdl‘l{?’m‘qq"l °|'1||\7|¢|

-1 TeA-11

a. T g i, foRerE
b. TH.EA. SifeaE i, TEERT
C. THL TR iii, TR
d. AfFT ARENe v, TERYE
S

a b c d
(A i i i v
B) v i i
©) i v i i

D) i i iv il
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59.

60.

61.

Match an item in List — | with an

item in List — Il. Use the codes given
below :

List -1 List —11
a. Shaman i. one who uses

supernatural powers for

anti-social purposes

one who has the

capacity to call spirits

to Kkill or cause harm

c. Sorcerer iii.religious functionary
whose authority is
bestowed upon him by
the society

d. Witch iv. A religious specialist
who receives the power
directly from the super
natural sources

b. Priest ii.

Codes :
a b C d

(A) iv i [ ii
(B) i i i v
(C) v i i
(D) i i v i

Match an item in List — | with an
item in List — II. Use the codes given
below :

List—1 List— 11
a. Class i. Descent Group
b. Tribe ii. Coloured Group
c. Clan iii. Excluded territorial group

d. Varna iv. Economic group
Codes :

a b c d
(A) i i iii iv
(B) i i iv i
(C) iii v i i
(D) v iii i i

Match an item in List — | with an item
in List — Il. Use the codes given below :

List -1 List—11
a. Universalization i. M.N. Srinivas
and Parochialization
b. Little and Great ii. L.P. Vidyarthi
Tradition
c. Sacred Complex iii.Robert
Redfield
d. Dominant Caste iv. McKim
Marriott
Codes :
a b c d
(A) i i iv i
B o
C v il i i
(D) i i iii \Y
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62.

63.

64.

Which one of the following pairs is
not correctly matched ?

List—1 List— 11
(A) Cross-cousin  Children of
opposite sex
siblings
(B) Parallel Children of
cousin classificatory
cousins
(C) Affinal Individuals
relative related through
marriage
(D) Consanguineal Individuals
relative related through
biological
connection
Match an item in List — | with an
item in List — I1. Use the codes given
below :
List—1 List—11

a. Non-invasive i. Amniocentesis
prenatal testing

b. Invasive
prenatal testing

c. Gene therapy

ii. Diabetes

iii. Matenal serum

screening
d. Recombinant iv. Adenosine
DNA deaminase
technology deficiency
Codes :
a b c d
(A) i i iv i
(B) iv i i i
C) i i i v
(D) i v il ii
Match an item in List — | with an
item in List — 1. Use the codes given
below :
List— 1| List—11
a. Turner’s i. 18 Trisomy
Syndrome
b. Klinefelter’s ii. 44, XO
Syndrome
c. Edward’s iii. 44, XXY
Syndrome
d. Down’s iv. 21 Trisomy
Syndrome
Codes :
a b C d
(A) i v i iii
(B) i iii i iv
Qe i i i iv
(D) il i I WY
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59. g1 § & W[ H gl § & W &

T gRfeT Hifea X A 52 wiet 9
TEI 3T T T IS
-1 -1
a WA i 9% ST aHe- R st
& T8 SATefiToheh STTeaa
T T AT T |
b. Wied i, & S ARA AT THEH
F & o3 3mereT ot
A T ITRT T |
C. AT iii. ¥fHeh e 518 THST
SR FRT MR G T e |
d. ggat iv. et oo S
AMTATTeReh BT 9 Tre
ST T AT € |
S
a b c d
A) iv il i i
B R | T 1 iv
C v i i i
D i i \Y] i
60. -1 H < Wl F I H & A b
T gt SIS X A9 5 et 9
ﬂﬁwwwaﬁ%ﬁ:
a}}ﬁ-l gE
a. i SRS e
b. ST ii'ﬁﬁﬁ
c. Fet i T
d. ot iv. 3T T
e
a b ¢ d
A I i ii v
B i i iv ii
C) i v i 1
D iv il I i

61. 1 9 3 #gl R D
wﬁﬁfﬂﬁ wﬁ%ﬁﬁaﬁ@r@

-1
Wﬁlﬂww i, THTA, sfte
b. @ﬁf@a?fr ii. Tor Oy, formert
TR
c. uferst uiER iii. i Tehics
d. et i iv. Ofsrg Aftene
e
a b C d
A i iv i
B i v i i
C iv i i i
D i i i iv
D-07-13
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62.

63.

64.

%ﬁ?f@ﬁﬁ@aﬁ?mwﬂﬁﬂﬁfﬁﬁ

?

(A) ®EFE - (o o & 9
el & T

(B) TRTTer - — aTIhe0T hatd o

(C) dariees ~ foame % s

Ty Tt St

(D) WA - S T F

Ty SR T
o

aﬁlﬁﬁﬂﬁﬁaﬁﬁlﬁﬁﬂﬂ‘r%
T gaferd i iR A 5T st @

TEl ST T T4 HifT
-1 -1
a. T.eaeia i, uAHeNErad
TEEYe qreTuT
b. sfcei i, AYHE
THAY TRIET0T
¢. S SRR iii. ATg TRy St
d. 9.9 iv. TSI feufay
AT, i HAT
PIGIUED)
S
a b c d
(A i i v i
(B) iv i i
© i i i iv
O) i v i i
g1 B S R A G-I § & AR o
T gt i X A9 5 wret @
TEl ST T =TI HifT
-1 TeA-11
a. TR GATT i, 18 Q!
b. foRTteeY ii. 44, XO
HeAToT
C. USTS TAUT  jii.44, XXY
d. TS GO v, 21 I
S
a b c d
(A i iv i i
(B) i i i v
<C 1 i iv
(D) @i i i v
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65.

66.

67.

Match an item in List — | with an
item in List — Il. Use the codes given
below :
List—1 List—11
a. Insulin I. Hemophilia
b. Erythropoetin ii. Short Stature
c. Factor VIII iii. Diabetes
d. Growth iv. Anaemia
Hormone
Codes :
a b C d
(A) il v ii
B) i i i v
C) v i i i
(D) i v i i
Match an item in List — | with an
item in List — Il. Use the codes given
below :
List— 1| List—11
a. Stature i. Infantometer
b. Supine length ii. Skinfold
callipers
c. Ear length iii. Stadiometer
d. Biceps iv. Sliding
Callipers
Codes :
a b C d
(A) iv i [ iii
B) i i i v
C) i i v i
(D) i i i WY
Match an item in List — | with an
item in List — 11. Use the codes given
below :
List—1 List—11
a. Albinism i. Tyrosinase
b. Galactosemia ii. Homogentisic
acid oxidase
c. Phenyl- iii. Galactose-1-
ketonuria phosphodyl
transferase
d. Alkaptonuria iv.Phenyl alanine
hydroxylase
Codes
a b c d
(A i i v i
(B) i i [ iv
(C) v i i i
D) i i i v
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68.

69.

70.

Match an item in List — | with an

item in List — Il. Use the codes given
below : _
List—1 List-1
a. Correlation i. Frequency _
coefficient distribution that is
symmetrical
around the mean
b. Standard  ii. Measure of
deviation dispersion around
the mean
c. Normal iii. Quantitative
distribution measure of the
strength of the
relationship
between two
variables
d. Heritability iv. Proportion of
phenotypic
variation in a
population
attributable to
g_enotyplc
ifferences
Codes :
a b ¢ d
A) v 1
B) 1 1 v
C) i i iioiv
D) i i I \Y
This consists of two lists of
statements or terms and the

candidates has to match an item in
one list with an item in the other :

List— 1
(Name of the
book)

a. In pursuit of

the past

b. Adam’s

Ancestor

c. Archaeology
and Society
d. The Indus
Civilization
Codes :

a b ¢
A) I
By L v i
C) 1noioiv
D) iv i ii

List - 11
(Name of the
~Author)
1. Mortimer
~ Wheeler
ii. Lewis Binford

iii.L.S.B. Leaky

iv. Graham Clarke

d
v
i
I
i

Which one of the following pairs is

correctly matched ?
(A) Burin
technology
©
C

(D) Mindel Glacial

Natufia

Barbed Harpoon

Middle
Palaeolithic
culture
Mesolithic
Lower
Palaeolithic
Eocene
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65.

66.

67.

gl H S HE A gl § S IR &
e gt i X A i et @
ﬂﬁ%wwaﬁﬁﬁ: -,
1 II

a. TG i, feriTern
b. g ii. g g
¢. I VIII iii. TeE
d. MTERTT v, T
HIE

a b C d

(A Qi v i
(B) i i Qi v
(C) v i i i

(D) i v i i
-1 | & Al B G-I A S OwE
T AT i Y A 5 wret
Hﬁsj“;ﬁwwaﬁﬁ?}: i
T=h-1 I
a. % i, Themier
b. gured (Mo i, ferhiee Hied
TAETE) Y
TS
C. M & oT=E il Rfganey
d. f-rorus iv. TEreT HieTod
HIE
a b C d
(A iv i i i
B) i i i v
() i i v i
() i i i v
Al H S AE A gl § S R &
Trer gl HicE 3R A 73 et @
TE SR T =I5 HifoT
-1 -1
a. ey i, TR
b. Tt ii. grESiieras
ufae sifrasy
c. Trreetnegrar i ieteeia- 1
RITRISEA
TR
d. eeueRar v, fTEeT T
HESERIGE]
HE:
a b c d

(A 0 i v i
(B) i i i v
(C) iv i i
) i i i v
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68.

69.

70.

gl H S HE A gl § S R &

e gt i X A i et @
el 3T 1 TG IS
-1 -1

a. HEgEY TUlieh i, 3T faaRor S
e & 3T-
I AT €

b. A= faae ii. AT & ITE-UT
forgsiT =1 7T

c. gm= faavor iii. <t aRataar &
Haedr =l
HETcHe /1T

d. srEEEar iv. frdt SEET 9
9T IR T
3T, ST
SEICIHEEC T
BATE |

0 ol

a b c d
(A v i i
B) i i v i
1 | 11 v
(D) i i i iv
gl § S HST H gl H S ARl &
1 gAfAT HicE R A9 53 Fret @
TEl 3T B T4 B
eI (q5Th) mﬁn(ﬁ'@a;)

a. Eqmszam‘ﬁ i.

b. Q@{H@w ii. wifer fomrmie
C. STTHAANT UUE i TA.TH.S, oArehl

ESI S ERE)
d. 3 T=g iv. T FeATh

IRICGIESNE
BT
a b c d

EA; im0 i v

B R VA ii

(C) i i v i

(D) iv i i i

ﬁmﬁf@ﬁﬁﬁﬁqmwaﬁﬁ%ﬁ%’)

(A) =ARA Tl —  He g
TR

(B) giRaT —  HEOTTOT

(C) HIRERYA — T& JRIATToT
(D) foee — eTdH
Temmed
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Read the passage below and answer the
questions that follow : (Q. Nos. 71 to 75)
Humankind is undergoing evolution with a
new twist. Among many animal species,
the individuals that survive and breed are
the stock selected by nature to continue the
species. But Homo sapiens is a social and
cultural species. Just as the infertile worker
bees make an essential contribution to the
survival of the bee colony, so too in our
own society, all members contribute to the
species’ survival even if they bear no
children. They do so all the more as our
skills and roles in society become
increasingly specialized (like the bees’). In
the present state of human overpopulation,
it is clear that those who do not reproduce
are making a greater contribution to the
species as a whole than those who do,
because the stress of overdense populations
is the greatest threat to our survival.

For a species like ours, whose survival
depends on culture (which is based on
knowledge), it is essential to use all
available knowledge and understanding to
achieve better adaptation to a changing
environment. This is perhaps our most
difficult problem each new cultural
adaptation we make alters the environment
to which we are adapting. New adaptations
increase population; greater population
densities require further adaptations; new
adaptations  deplete world resources;
resource  depletion  requires  further
adaptation. And so it goes on. We find
ourselves in a vicious circle of ever-
increasing instability.

Essential now is an all-out attempt to break
that accelerating positive feedback loop
and bring about new stability in population
size, in technological investment, in
consumption.

71.

72.

73.

74.

75.
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Why is evolution of humankind

different from the other animals ?

(A) Human species belong to the
group of higher animals in the
animal kingdom.

(B) Humankind is a social and
cultural species.

(C) Human stock selected by
nature alone survive and breed.

(D) Unproductive human beings
constitute a burden to the
society.

How is the survival of human kind
different from the survival of other
animals ?

(A) The individuals who breed
successfully alone contribute to
the survival.

(B) Those individuals who do not
reproduce also have a great role
to play in the survival.

(C©) Human over-population
contributes to survival.

(D) Specialization of skills and roles
has negative effect on survival.

In what way the society of bees is

comparable to that of Homosapiens ?

(A) Infertile bees contribute to the
survival.

(B) Only fertile bees contribute to
the survival.

(C) Skills and roles in case of bees
are not different from that of

humans.
(D) Population increase is not
different  from  that  of

Homosapiens

What is the greatest threat to the

survival of Human species ?

(A) Changing environment

(B) Lack of sufficient knowledge

(C) Lack of better adaptation

(D) Over population

What is the vicious circle of ever-

increasing instability ?

(A) Increase in population and
adaptation — depletion of
resources — further adaptation.

(B) Increase in population
depletion of resources —
change in environment

(C) Depletion in resources —
increase in population —

_)
_)

\

changing environment

(D) Greater population density
change in environment
depletion in resources
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e T2 o= @ ufed R em fe we
(71 9 75) & S I

UG % FANTAl & T A% O
F @ E | WOET B FE TATA H O Ao
AR TS A AT STO-STE W
H‘ﬂvld J ysTfdt S ST WA % fw A €
IR I QIUU=T T WIS 3T |REhiash
TSl & |ﬁawwwmﬁ%@m
HeyfREdl i %A w SHifed W@ & fer
EvTF AT Sl €, I & TAN 210 T
T yelidal & Sifad W@H & g ot 95
IR I §, el & o It B S T I @ |
3 TE T AT HA €, Hih TEST H FHR
IO Y JfHernd fye feorstoranget &t 78 €
e & Tyufeear @) | @FEa # A
AT ® aaaH feifd #§ 98 W € o
TSI Tél B & o IR T H Pl THeART
TSTIiat Sl 3Tfeeh AR § @ €, S Ui oY
W €, Hih S % T H A g
TR ST o fIT 31k @awr € |

AR S penfodt & e, e sfe
TP W R T @ 9 omuRd ®),
IR STATERTT % foIT Sea¥ 3T Her e
FH % U ot Suer §F o) wme @
ST AT ORI ¢ | TEd: T FAR Ta™
HiS FHET & | U T3 qRHish 3THeH &
1T &0 39 ardeRe ° uRady R © ST
T SFEOH FA & | T IFHOE § SHHE]
FEadt &, 3 S ¥ % fau st
3THeH I AT Bl &, T8 3THeHT o
faear & Tt § wH Sl €, TR w6 HH
% o0 31 3ot Ht STMAvIshar eidl & 31T
TH UK T8 SHH Toidl &l edl € | g9 gl g8
HANERAT & HROT 3T I 3T6 § U § |

S T§ A TERIF ¢ o6 U6 T T
T STE S8 @R FhRIcHe, Agie ofd i
ST T 3 G & MHR H, Ui
ot o § SR SUMT § e o S
TF |

71.

72,

73.

74,

75.

OGS 1 ShiHe O 3= TR 9

Tt /1T & 2

(A) WYT ST | OIS USId 3= Wi
TEHE |

(B) WMo WIS 3T GEEhd
ST ©

(C) ¥FH = Hae TG Hl STaT 3
TS o AT g E |

(D) et A TAN & AT 9R & |

OHSTITT T ST 311 W & St

THg e § 2

(A) STt Al THAAYEE TS Bl
T 9 STEE H WA AT |

(B) S =TSR USHA &l T & I
ST H SET oo 3787 AT € |

(C) HMa &t 3ifyesh SHEE e o
TR It & |

(D) R iR yfHerstl & fawsar

e I FehRIcHeh e TS € |

W%W&%ﬁﬂﬁﬁ?ﬂ?%

AT ¥ 59 TR qol #Gﬂ et € ?

(A)wmwﬁw % fomw
IS <t

(B) et USHH HXH STel HYHTREAt
STe & fIT AR 3t € |

(C) wydfFgal & Tt § HivreT 3R

¢ AFd BRI IR

gt § ot @ et € |

(D) sE= iy EEETTE
SHEET g | = Tél E

OHESTT & St & ol e a8 @ad

FAE?

(A) AR TaTERoT

(B) AT [ T 37T

(C) 'R STIHH I A

(D) afges SHEE

STl g€ SRR 1 GO A1 & 2

(A) SHEEN gy R IFHeH —
AT BT HH — STeH 3o

(B) SHEET kg — THTEHAT I HHT
— TITEROT | gREH

(C) Tl H HH — SHEET g

(D) 3Tk SHEEAT 99 — JaTeRoT |

TR — TETET & A
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UGC - NET EXAM DECEMBER 2013
KEYS - PAPER 3

Subject (07 ) ANTHROPOLOGY

Qno Answer Qno Answer
1 P 51 A
2 c 52 A
3 C 53 A
4 C 54 *
> A 55 D
6 D 56 B
7 A 57 B
8 B 58 B
9 P 59 A
10 B 60 D
11 A 61 c
12 B 62 B
13 B 63 A
14 B 64 B
15 c 65 A
16 D 66 c
17 A 67 B
18 B 68 D
19 B 69 C
20 D 70 B
21 c 71 B
22 B 72 B
23 B 73 A
24 A 74 D
25 D 75 A
26 D
27 A
28 c
29 B
30 D
31 A
32 A
33 D
34 A
35 c
36 A
37 D
38 D
39 D
40 B
41 A
42 B
43 A
44 B
45 c
46 A
47 A
48 B
49 c
50 c

"*" DENOTES MARKS GIVEN TO ALL CANDIDATES
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